Percentage BoQ

Tender Inviting Authority: SM(SKG)

Name of Work:- Horticultue work at Pragati Maidan during 2023-24

SH: Improvement ,Display, Maintanance of plants, Horticulture work inside Pragati Maidan premises including verges & medians of roads, green area, surrounging of exhibition Halls and providing cut flower & other material during IITF for 12 Months at Pragati Maidan.

Contract No:

Bidder Name	:	

PRICE SCHEDULE

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only) NOTE:-

- 1. The rates should be quoted exclusive of GST as applicable
- 2. The agency should file ECR against ESI & EPF for the individual workers engaged in ITPO & submit the same with bank certified copy, bill, wage sheet & attendance sheet etc. before payment. 3. Contractural Labour Act Registration if applicable.

NUMBER#	TEXT #	NUMBER #	TEXT#	NUMBER	NUMBER #	TEXT #
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
1	Head 1 :- Provision of cut flower for filling the flower vases of CMD/ED/Audit	4	5	6	54	55
	Room/Protocol room/Board romm and Board meeting offices and other fair during the year					
	Multicoloured Gladiolus cut flowers with 20" to 24" spike, fresh, healthy & bright in colour					
	having 5 to 8 open buds.					
		390	dozen	79.30		INR Thirty Thousand Nine Hundred & Twenty Seven Only
		390	dozen	79.30	30927.00	I wenty seven Only
	Carnation (Dutch) hybrid cut flower red / pink colour with 14" to 18" long spike fresh, healthy &					
1.02	bright in colour of good quality (20 flowers in each bunch)					INR Twenty Eight Thousand One
		150	Bunch	187.82		Hundred & Seventy Three Only
	Asiatic Lily cut flowers with 16" to 20" long spike fresh, healthy & bright in colour of good					
1.03	quality (10 flowers in each bunch)					INR Seventy One Thousand Four
		160	Bunch	446.58		Hundred & Fifty Three Only
						Ţ.
11 04	Flower bunch of Tata Rose/Rose flower of different colours in 10"-14" long stick(20 flower in a					INR Twenty Thousand Three Hundred &
	bunch) ,decorative ribbon polythene sheet etc. complete in all respect.	160	Bunch	127.19		Fifty Only
11.05	Zerbera hybrid (Different colour) cut flower with 12" to 16 " long spike fresh and healthy bright					
1.05	in colour.	160	Bunch	389.54		INR Sixty Two Thousand Three Hundred & Twenty Six Only
		100	Duilcil	307.34	62326.00	& I wenty SIX Only
1.06	Charge on the many Double Cut Flower fresh, healthy & buight in colour of good quality					
1.00	Chrysanthemum Double Cut Flower fresh, healthy & bright in colour of good quality	160	Bunch	63.60		INR Ten Thousand One Hundred &
		100	Duilcil	03.00	101/6.00	Seventy Six Only
1.07	Tube rose cut flower with 18" to 20" long spike having 8-10 buds, fresh, healthy bright in colour					INR Nine Thousand Five Hundred &
		160	Bunch	59.62	9539.00	Thirty Nine Only

1.08	Orchid cut flower pink/Blue/white colour 9" to 12" long spick,fresh,healthy & bright(10flowwer in each bunch.)	160	Bunch	246.44	39430.00	INR Thirty Nine Thousand Four Hundred & Thirty Only
1.09	Supply of Floral foam brick primium quality density (Oasis or equivalent) proper packing box (One box containing 20 bricks of size 22.5cm x 10.5cm) at site of work including, loading unloading, carriage with all taxes paid etc. and as per directions of the officer in charge.	40	per box	538.40		INR Twenty One Thousand Five Hundred & Thirty Six Only
1.10	Provision of Mali for Maintenance of Lown,gardan,Shurbs and arrangment of cut flowers in vases in various place i.e. Officer's Rooms, Protocol office ,Conference Hall etc. =4 Mali (For 12 month) Note: Rate should be quoted for one Mali per Month	48	Mali Per Month	18926.79	000497.00	INR Nine Lakh Eight Thousand Four Hundred & Eighty Six Only
2.01	Head 2:- Providing and Displaying including Maintanance of plants and other material during IITF, AAHAR A) Provision of flower potted plants for grouping infront of Admin; Block Protocol Gates 1,10 International Business Lounge and Halls during IITF Providing and Displaying Plants Chrysenthemum single variety in different colour well developed having 45 to 60 cm ht. minimum 100 and above half bloom flowers open well stacked with bamboo stick having 3 layer tiding by thread fresh and healthy foliage in 25 cm Earthen Pot and as per direction of the officer in charge.	200	each	27.51	5502.00	INR Five Thousand Five Hundred & Two
2.02	Providing and Displaying Plants Dianthus Dwarf in different colour fresh and healthy bloom in 29cm earthen/plastiv pot and as per direction of the officer in charge.	100	each	32.59	3259.00	INR Three Thousand Two Hundred & Fifty Nine Only
2.03	Providing and Displaying Plants Marigold Jaffri orange, yellow/Russet colour well developed with fresh and healthy foliage with 40 to 50 flowers in bloom specimen plant 60 to 75 cm ht in 25cm earthen pot /plastic pot and as per direction of the officer in charge.	300	Each	114.08		INR Thirty Four Thousand Two Hundred & Twenty Four Only
2.04	Providing and Displaying Plants Marigold Tagetes inca hybrid different colour having 30cm and above height with 6 to 8 flowers in blooming condition, well developed pot should be fully coveredwith fresh, healthy and flowers in 20cm earthen pot /plastic pot and as per direction of the officer in charge.	250	Each	48.89		INR Twelve Thousand Two Hundred & Twenty Three Only
2.05	Providing and Displaying Plants Pansy Hybrid Sakata well developed with fresh and healthy foliage with 3 to 4 flower in bloom in 20 cm earthen/plastic pot and as per direction of the officer in charge.	150	Each	40.74		INR Six Thousand One Hundred & Eleven Only
2.06	Providing and Displaying Plants Pitunia Hybrid in different colour single well developed in full bloom in 20 cm earthen/plastic pot and as per direction of the officer in charge.	200	Each	32.59	6518.00	INR Six Thousand Five Hundred & Eighteen Only
2.07	Providing and Displaying Plants Poincettia dwarf multi head, having upto 30 cm ht. with 3 to 4 branches with fully coloured top with fresh and and healthy foliage in 20 cm earthen/plastiv pot and as per direction of the officer in charge.	200	Each	195.56	39112.00	INR Thirty Nine Thousand One Hundred & Twelve Only

2.08	Providing and Displaying Plants Salvia Red Hybrid variety having 15 to 23 cm ht; well developed with fresh and healthy foliage in bloom in 20 cm earthen/plastiv pot and as per direction of the officer in charge.	150	each	40.74	6111.00	INR Six Thousand One Hundred & Eleven Only
2.09	Providing and Displaying Plants Celosia well developed with fresh and healthy 20 to 25 cm ht. attractive multibranching at blooming stage in 20 cm earthen/plastiv pot and as per direction of the officer in charge.	100	each	40.74		INR Four Thousand &Seventy Four Only
3.01	B) Providing and Displaying of following Foliage Plants Providing anf Displaying Araucaria cookie plant having ht 60 cm to 70cm straight well developed fresh and healthy with lush green leaves from bottom to top in in 20 cm earthen pot /plastic pot and as per direction of the officer in charge.	100	each	142.62		INR Fourteen Thousand Two Hundred & Sixty Two Only
3.02	Providing anf Displaying Areca Palm plant having ht 150 cm to 180cm with 6 to 8 suckers, well developed fresh and healthy with lush green foliage in 25 cm earthen pot /plastic pot and as per direction of the officer in charge.	150	each	146.67		INR Twenty Two Thousand &One Only
3.03	Providing anf Displaying Croton plant having ht 60 cm to 75cm with 4 to 6 branches, well developed fresh and healthy colourful leaves in 25 cm earthen pot /plastic pot and as per direction of the officer in charge.	200	Each	260.75		INR Fifty Two Thousand One Hundred & Fifty Only
3.04	Providing anf Displaying Money plant Broad Leaves mounted on Moss Stick having 90 cm ht. 3 to 4 plants in each pot, well developed with full of fresh and healthy leaves in size of 25cm top dia x 18cm bottom dia x 25cm Perpendicular height in 25 cm earthen pot /plastic pot and as per direction of the officer in charge.	200	Each	122.23		INR Twenty Four Thousand Four Hundred & Forty Six Only
3.05	Providing anf Displaying Philodendron Oxicodium plant Broad Leaves mounted on Moss Stick having 90 cm ht. having 3 to 4 plants placed at equal distance, well developed with full of fresh and healthy leaves in 25 cm earthen pot /plastic pot and as per direction of the officer in charge.	100	Each	122.23		INR Twelve Thousand Two Hundred & Twenty Three Only
3.06	Providing anf Displaying Cephortia Palm plant having ht 90 cm to 150cm with 6 to 8 suckers, well developed fresh and healthy with lush green from bottom to top in 25 cm earthen pot /plastic pot and as per direction of the officer in charge.	100	Each	285.20		INR Twenty Eight Thousand Five Hundred & Twenty Only
3.07	Providing anf Displaying Aglaonema Parrot Jungle plant (three in one) having ht 30 cm and above with 20 to 25 leaves, well developed fresh and healthy in 25 cm earthen pot /plastic pot and as per direction of the officer in charge.					INR Four Thousand Eight Hundred &
3.08	Providing anf Displaying Areca Palm plant having ht 120 cm to 150cm with 5 to 6 suckers, well developed fresh and healthy with lush green in 25 cm earthen pot /plastic pot and as per direction of the officer in charge.	100	Each Each	122.23		Eighty Nine Only INR Twelve Thousand Two Hundred & Twenty Three Only
3.09	Providing anf Displaying Croton Duck Foot (Elite)plant having ht 60 cm to 75cm with 4 to 5 branches, well developed fresh and healthy colourful leaves in 25 cm earthen pot /plastic pot and as per direction of the officer in charge.	100	Each	244.46		INR Twenty Four Thousand Four Hundred & Forty Six Only

3.10	Providing anf Displaying Dracaena Song of India plant (three in one) having ht 60 cm and above, well developed fresh and healthy with good foliage in 25 cm earthen pot /plastic pot and as per direction of the officer in charge.	100	Each	102.35	10235.00	INR Ten Thousand Two Hundred & Thirty Five Only
3.11	Providing anf Displaying Raphis Palm plant having ht 45cm to 60 cm with 5 to 7 suckers, well developed full of fresh and healthy leaves in 25 cm earthen pot /plastic pot and as per direction of the officer in charge.				1020000	
		150	Each	146.67	22001.00	INR Twenty Two Thousand &One Only
4.01	Head 3 A) Providing and Displaying of Cut Flower in Flower Vases and big tray etc. for inauguration of IITF,AAHAR, including International Business Lounge. Chrysanthemum Double Cut Flower Yellow	7400	Each	27.51	203574 00	INR Two Lakh Three Thousand Five Hundred & Seventy Four Only
	Chrysanthemum Double Cut Flower White	7400	Lacii	27.31	203374.00	INR Two Lakh Three Thousand Five
4.02	,	7400	Each	27.51	203574.00	Hundred & Seventy Four Only
4.03	Carnation Double	400	per bunch	159.00	63600.00	INR Sixty Three Thousand Six Hundred Only
4.04	Anthurium Cut Flower	500	per dozen	413.39	206695.00	INR Two Lakh Six Thousand Six Hundred & Ninety Five Only
4.05	Asiatic Lilly	300	per dozen	389.54	116862.00	INR One Lakh Sixteen Thousand Eight Hundred & Sixty Two Only
4.06	Oriental Lilly	100	per dozen	791.00	79100.00	INR Seventy Nine Thousand One Hundred Only
4.07	Orchids Flower	100	per bunch	246.44	24644.00	INR Twenty Four Thousand Six Hundred & Forty Four Only
4.08	Tuberose single Hybrid	180	per bunch	59.62	10732.00	INR Ten Thousand Seven Hundred & Thirty Two Only
4.09	Tata rose	300	per bunch	127.19	38157.00	INR Thirty Eight Thousand One Hundred & Fifty Seven Only
4.10	Stage Decoration with arrangement of cut flower height 15 cm to 75 cm with 6 to 8 Rows of flower and fillers on the oasis in presentable manner in the tray as per design approved by authority including clearing of site (Cost of Tray, Oasis and Cut flowers shall be paid separately) as per direction of officer in charge	150	Per Metre	81.67	12251.00	INR Twelve Thousand Two Hundred & Fifty One Only
4.11	Marigold(Yellow) Kolkatta Flower Lari	5000	each	25.44		INR One Lakh Twenty Seven Thousand Two Hundred Only
4.12	Marigold(Orange) Kolkatta Flower Lari	5000	each	25.44		INR One Lakh Twenty Seven Thousand Two Hundred Only
4.13	Lari chrysanthemum white colour 6 ft long	1500	each	79.50	119250.00	INR One Lakh Nineteen Thousand Two Hundred & Fifty Only
4.14	Lari Marigold(Local) 4 ft long	1500	each	25.44	38160.00	INR Thirty Eight Thousand One Hundred & Sixty Only

4.15	Russet jafri 3 ft long	400	each	22.26	8904.00	INR Eight Thousand Nine Hundred & Four Only
1.16	Providing And Displaying Asok Patta Lari (6feet Long)	5300	each	18.37		INR Ninety Seven Thousand Three Hundred & Sixty One Only
5.0	PART-B Maintenance of potted plants for entire diration of fair	5500	each	3.97		INR Twenty One Thousand Eight Hundred & Thirty Five Only
6.0	Transportation of four wheeler tempo / truck with 8um capacity including Diesel and Driver etc. All complete for carriage of potted plants within the area of Pragati Maidan for 8 hours including loading / unloading with the help og 6 nos workers as per the direction of the Officer in charge.	50	per Day per unit	3712.54	185627.00	INR One Lakh Eighty Five Thousand Six Hundred & Twenty Seven Only
7.0	Washing of trees and shrubs through water tanker of capacity 10000 litre required for washing trees and shrubs. The water tanker should be fitted with engine operated power sprayer having at least 2 nozzles. The labour required for washing trees and shrubs will be provided by the contractor.	40	Per Trip	1589.95	63598.00	INR Sixty Three Thousand Five Hundred & Ninety Eight Only
8.00	Supplying and stacking of good earth at site including royalty and carriage upto 5 km complete (earth measured in stacks will be reduced by 20% for payment).	25	cum	254.20	6355.00	INR Six Thousand Three Hundred & Fifty Five Only
9.00	Preparation of ground for grassing by excavating to a depth of 0.15m removing all foreign bodies, refilling the excavated area with the mix of good earth and manure in ratio 8:1, alongwith soil improvement nutrients (0.25 kg/sq.m of gypsum, 10 gms/sq.m each of DAP and carbofuran 3G to be paid for seperately) Grade surface to finish levels. The cost to include grassing with Selection 1 grass by dibbling.	100	sqm	116.06	11606.00	INR Eleven Thousand Six Hundred & Six Only
10.00	Supplying and stacking at site dump manure from approved source, including carriage upto 5 km complete (manure measured in stacks will be reduced by 8% for payment): Screened through sieve of I.S. designation 4.75 mm	25	cum	159.88	3997.00	INR Three Thousand Nine Hundred & Ninety Seven Only
11.01	HEAD-4 :- Supply of plants A) TREE & SHRUBS Bismarckia Nobilis(Bismarck palm)	20	nos	1074.81	21496.00	INR Twenty One Thousand Four Hundred & Ninety Six Only
11.02	Furcaria Varigated (Furcaria)	50	nos	348.04	17402.00	INR Seventeen Thousand Four Hundred & Two Only
11.03	Phoenix Roebelenii(Phoenix)	50	nos	852.05	42603.00	INR Forty Two Thousand Six Hundred & Three Only
12.00	B- LAWN Cyanodon dactylon-Selection 1 grass	100	sqm	36.53		INR Three Thousand Six Hundred & Fifty Three Only
13.00	Note: The rates should be quoted exclusive of GST as applicable					
Total in Figu	rres				3402362.00	INR Thirty Four Lakh Two Thousand Three Hundred & Sixty Two Only

Quoted Rate in Figures		Select		0.00	INR Zero Only
Quoted Rate in Words	INR Zero Only				